
Work out the answer to the sum. Split your answer up into 2 

numbers. The first number goes across and the second number 

goes up. Example: 27+4=(3,1) 

Join the dots up after each sum 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
1. 2x6=(  ,  ) 2. 40-17=(  ,  ) 3. 11x3=(  ,  ) 4. 60-17=(  ,  ) 

5. 22+32=(  ,  ) 6. 13x5=(  ,  ) 7. 100-24=(  ,  ) 8. 7x11=(  ,  ) 

9. 39x2=(  ,  ) 10. 90-1=(  ,  ) 11. 40+48=(  ,  ) 12. 7x14=(  ,  ) 

13. 25+62=(  ,  ) 14. 49+28=(  ,  ) 15. 90-23=(  ,  ) 16. 14x4=(  ,  ) 

17. 9x5=(  ,  ) 18. 13+21=(  ,  ) 19. 11x3=(  ,  ) 20. 8x4=(  ,  ) 

21. 7x3=(  ,  ) 22. 44-22=(  ,  ) 23. 36÷3=(  ,  ) 
What do you see? …………………………………………………………………………………………… 

          

         

         

         

         

         

         

         

         

 


